TN 3 SERE

Hhdec Rl HEmAE(a) wERE(k g) #ER (M)

M ] 110. 7 7,770 2, 250
[izpE 2.9 575 220
KA 140. 7 3, 265 1, 226
L 30. 6 2,238 1, 056
IR 16.3 1,924 615
fitiley 42.1 2, 780 1,472
KEtR 28. 7 3, 890 767
e 372.0 22, 442 7, 606
W2zl #EmE (a) WEE(k g) #ERH (M)

U hy 20. 7 1, 389 2, 804
HARF ¥ 29. 2 860 204
AA T 15. 4 7, 395 1, 050
A F 0.6 145 48
7 Ky 0.3 14 11
T 0. 4 69 23
o= 3.5 895 236
PN 6.5 195 46
AAf—ha—y 7.6 234 57
T K< A 0.3 34 5
a7 0.0 0 0
Fi 148. 7 8, 650 2, 164
PEERL 0.6 160 62
ES 0.2 56 22
Cx AT 5.9 171 40
VEs 0.7 123 27
+ = 0.1 5 2
k= k 0.3 34 107
A F= 0.2 4 5
7 1) 0.2 30 7
Z DAt 130.6 1,979 636
e 372.0 22, 442 7,606
5 ERA #eEmE (a) EE(Kk g) #ERE (M)

A ) 293. 7 11,424 3,416
S 0.0 0 0
H T A 6.0 2,036 447
L 18. 1 950 706
AR R 3.2 210 212
NI BT 16. 1 1,673 1,426
== 1.0 280 84
7= 13.8 5, 306 1,134
HETH 12. 1 178 54
A X ¥ 5.0 335 96
7T~ 1.0 30 8
E NN 0.0 0 0
Z DAt 2.0 20 23
g 372.0 22, 442 7, 606




